                                                      COMPOUND INTEREST

1 How much money would be in an account after ﬁve years if $3000 is invested at 10% per annum compounded annually? 

2 Compare the interest earned with both simple and compound interest if $4500 is invested at 11% per annum for six years. What is the amount of the difference? 

3 a Find the amount of money in the following accounts after one year if the initial investment of $1000 is invested at 7% per annum, compounded: 

i annually ii quarterly iii monthly iv weekly v daily 

b What do you notice about your answers in a? 

4 Calculate the amount of compound interest earned (to the nearest cent) if: 

a $7000 is invested for four years at 8% per annum compounded annually 

b $2995 is invested for 20 years at 7.2% per annum compounded monthly 

5 a Find the total amount owed on a loan of $850 borrowed at 13.25% per annum compound interest adjusted weekly for six months. 

b Use your graphics calculator to construct a graph of the amount owed against time (in years). 

6 Philip wishes to invest $1500 for ﬁve years. Which of the following is his best option? 

a 11% per annum, interest adjusted weekly 

b 11.75% per annum, interest adjusted quarterly 
c 12.5% per annum, simple interest
7 Ilana uses her credit card to buy a dress costing $300, knowing that she will not be able to pay it off for some time. If she is charged interest on the amount for six months, how much will the dress ﬁnally cost her? (Assume interest is charged at 18% per annum, compounded monthly, and that no payments are made during the 6-month period.) 
8 Peter places $3000 in an account that pays 5.65% per annum compounded weekly. 

a How much will he have in the account in ﬁve years’ time? 

b Use your graphics calculator to construct a graph of the amount owed against time (in years). 
9 Singh wants to buy a boat in ﬁve years’ time. He estimates that it will cost him $15 000. 

His bank offers him an interest rate of 6.25% per annum compounded yearly for the 5-year term. 

a How much money should he invest now in order to have sufﬁcient funds to buy the boat in ﬁve years’ time? 

b If the interest was added daily, how much less would he need to invest?
10 If a principal of $6000 is invested at 5.25% per annum, compounded half-yearly, and the 

amount due is $7774.69, for how many years was it invested? 

11 In which year will $1000 ﬁrst exceed $2000 if invested at: 

a 10% per annum, compounded quarterly? b 12% per annum, compounded quarterly?
12 Suppose an investment of $1000 has grown to $1051.16 after 12 months invested at r% per annum compound interest compounded monthly. Find the value of r.
                                              SOLUTION

1 $4831.53 
2 SI = $2970; CI = $3916.87; compound interest earns $946.87 more
3 a i $1070 ii $1071.86 iii $1072.29 iv $1072.46 v $1072.50 

b The more often interest is compounded, the 

more interest is paid. 

4 a $2523.42 b $9591.71 

5 a $908.14 

6 a $2598.37 b $2676.48 c $2437.50 

The best option is b: 11.75% adjusted quarterly 

7 $328.03 
8 a $3978.72
9 a $11 077.62 b $103.09
10 5 years

11 a 8th year b 6th year 

12 5%
